factoring bingo

November 7, 2017

2x*—18x

4x*—4x-8

Ox2—12x+4

(3w = 2) (3w - 2)

(e ) (s

)




factoring bingo November 7, 2017

e

6x>—x—2 2+ 6x+8

(Zx ﬁ-l)(sx_z_) (X ._l)(**“)

(6s M )

2% —3x-2 4x> -9

(Z.‘ -~ l)‘(“ - 2) (Zx)z—3l

\_/ QZ-**-'S) (2&-'5)

Ve




factoring bingo

L
X

S+ 8

*3

L3

(2D (F-2x 24)

November 7, 2017

@3
X

—-27

-~

2 2
X =3

X"y +3

[

K= (2 +3029)

b=73

%2 —5x+6

(¥ —21x~ 3)

)
2x*—9x+9
(@@=~ 2} x=2)




factoring bingo

¥ -1
‘:(-H)(,g_,)
x:-25 ©

Xrs)lx-5)

November 7, 2017

[4x? —4x-15
(27‘ > g)( Zx‘S') Q'(u xl\t )
\\'o\/
8x° —32x




factoring bingo

x> +2x+1

November 7, 2017

6x°y+12x°y

8x2+12x—-2x-3

5x*+7x-20x-28




factoring bingo

2x° —T7x*—4x

November 7, 2017

X —4x+5x-20

2x*—10x+7x—-35

4x* -121




